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Tinte : 2t,) Hoursl
Instructians to the cahdiilotes: .

l) All questions ura ton,pulsory.
2) Draw diugrttm il,it'erever necessfiry.

Ql) Attempt any Eight of the folloruing :

a) What are the advantages of linked list over an array?

bt Horv to nteasure performarrce ol'arr algorithm'?

c) What is adjacenc.v of Matrix? ,.-.1= , '

e) What is complete binary t ' 
,...-- 

'

q \Vhat is polynornial? Ho is it rliffer fi'orn structure?

g) What is Prior:ity queue?,

h) State the difference"'6*;a stack & linked list.

r) What is the need far the header?

j) What is balance factor? Horv is it calculated?

Q2) Attempt any four of the follo,oving
li li,

a) What is height-balanced tree? Explain RR '

example.

b) What is linked list? Explain its types in detail.
-"c) Explain diff'erent Epes of asvmptotic dutati.o,i in detail.

c1) Explain insertion sort technique r.r,ith an example.

e) Difl'erentiate array and stmcture. "' 
' '
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#-fJ Atter"rlpl an)/ lbur of'the tcllorving [4 x4: I 6l
a) write a lunction to create & c1ispla1, circular singll, linkeellist.
b) l4'/rite a function to insert an element into a circillar queue, in u,hich t6e

qitcue is inr;tlernetried as an arr.iir.
c) Wlite a f-unction tbr in orilcr traversal of tl-re tree.
d) write a function ir drlete first node fiorn singlv'linked fist.
e) Write a functio;r'tctearu.trr the element from array using binar;* sezu-ch.

Q4) Atlempt any foiii.of the ibllorving :

a) Construui an AVI- tree for given data :

WED, T.iIg, UONI, SAI, T}{UR, FRI
b) psr gittn tiaia. constract a binarl search tree :

I r. 10. :0. 5. 10.2.7
c) Son the iollor.ring data b), using quick sort.

1 0, 5;, 7 5, 62, 49, 58

d) Wlite a C-progrant to rraverse the Iinked list.
e) What is Dequeue? Explain its operatior u,it .example.

t 't' 
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Q5) Attempt an,v two of the follorving :

a) Conveft the following expre-s.pi.ln inro postfix.

[4x4=16]

[2x3:6]

i) (A +B) * C-D
i, A+BxC-D/E*"'F:-,

b) Define tlre following terms :

i) Degree of, node

ii) Child node ,- 
",'

c) What is degree of vertijx? Find in degree & out degree of each r..e#ex for.
the following graph. 4 : .",,1:.' t
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